4.7 Notes 1920.notebook December 06, 2019

4.7 Inverse Functions

Find the angle in the interval [0, 2pi), given the reference angle and
quadrant in which the terminal side of the angle lies.

1.)0=.763; 11 2)0=.763;1V 3.)0=.763; 1l
2379 5.520 23 9p<
4.)60=.4151V 5.)0=.415; 111 6.)0=.415;11
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€ | Restrict the domain to: {f E]
272

V ’ On this interval:
7

1.) y = sin X is increasing

|
— i
-1 :
: : 2.) Range: [_1,]]
S
Sin x has an inverse on this interval 3.) y = sin X is one-to-one
T | T
Restrict the domain to: [0, :r]
;L' -‘l. u =COs X
s R . = On this interval:
T T mn 2n . .
- 0 = . 1.) y = cos x is decreasing
e 2.) Range:[-1,1]
Cos x has an inverse on this interval 3.) y = cos x is one-to-one

S

] ] ‘+1 - u" p Restrict the domain to: |:_£’ E]

On this interval:
\ 1.) y = tan x is increasing

2.) Range: [, o]

3.) y = tan x is one-to-one
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4.7 Inverse Trigonometric Functions

- A ow™
sine o> f\ .
T
C e Rl e o e o
% 2
¥ =arcsin x
| =23 — :
- 1 -2 -1 |
’ bl
o . Ba STttt T
2
DOMAIN: [-1,1] DOMAIN: [-1,1] DOMAIN: '~ 72 =)
RANGE: [_z ] RANGE: [0, 7] RANGE: | =33)
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. : _ V= arccos x
T .
I

p——

DOMAIN: [-1,1] DOMAIN: [1,1] DOMAIN: {— 5 )
RANGE: [ _z z]

(-3.3)
RANGE: [0, 7] RANGE: | 2.2

1)y =3sin"tx )y =cos™(x—-2)

3)y=tan"lx +§
ILJ’ J\.J' j\'}‘

[ |
2 P Iz

/

N ) i il = e
< o | i i 1L T X

1 2 1 2 - >

[ —
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a)y=2sin"‘x+n 5)y=3cos™ x -2 6)y = 2tan~1 x —m a
ey ay el
! I
2= E' _Zl
X i o i iy
. i 2 > < ; .':\ { B m i_3- _Fb
A
=3 =y
v " v 2317
\ . A TUNTY
" \|2kjhx T B T e
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If possible, find the exact value.

EB Gl

2
Sx
1)t tan(-5 2. in| sin— 3. .
) an[arc an( )] ) arcsin| sin 3 j )cos(cos >f)
@ Cos & =1
i
3 O/Ofg nojf
€3<(S'(‘
e
4.) tan[arctan(—14)] 5.)sin(arcsin ) 6.) cos[arccos(0.54)]
@ Sin® =1
dors not oxsd
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If possible, find the exact value.

& s
7. cos(arcsin (—5))

N\
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Write an algebraic expression that is equivalent to the expression.

Mar 27-10:05 AM
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Write an algebraic expression that is equivalent to the expression.

[

o
2

2 2
X t2=¢

e \‘le+2 = C

N
10.) csc(arctan i) L

J2
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Write an algebraic expression that is equivalent to the expression.

11.) tan[

4

23:}
darccos —
3

(2 2) b:9
L= G- 4y

L= \} F- x>
< \57"{!“

-

2%
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Find the general se en identify all solutions of the equation
in the interval r

12.)sinx+f:_sinx )<+(2 - =X
Jsinw T ﬁ 5
Sinx = 7 E X = Z(

2
S f'n"/—%s =\

Dec 14-1:38 PM
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Find the general solution. Then identify all solutions of the equation

in the interval ~ [0,.27) LS iax
=Sy

2 —
13.) 2sin* x—sinx—1=0 2w - w-1=0

/(Qg/-/\x—rb{gl-m(’b -0 /ZW”)/W’/}'—O

siax =", Sz |

Sia (1) %

Mar 27-10:15 AM
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Find the general solution. Then identify all solutions of the equation
in the interval ~ [0,.27)

14.) cot xcos” x =2cot x >< = 6—%

(07L)(/b$2§< - zcof\x = O

/o%y((oslx’gib | o
ety =0 (05 5 = ¥ = Sx=0
L] X (%-<)= 0
=0 %= §

Dec 14-1:38 PM
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